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Review- Rational Expressions and Equations

Multiple Choice
Identify the choice that best compleles the statement or answers the question.

Simplify the rational expression. State any restrictions on the variable.
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Multiply or divide. State any restrictions on the variables,
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D 4. If R is the total resistance for a parallel circuil with two resistors of resistances rr, and ry, then
= = il + I.- Find the resistance #, if the (otal resistance R is 65 ohims and r, is 90 ohms. Round your
R r, n
answer to the nearest ohm if necessary.
\ 234 ohms b. 5695 ohms c. 324 ohms d. 38 chms
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Simplify the complex fraction.

2 Y-1e
2 1 Y-l
A4 (P54
3 3
=
3 N
2 9
a g ‘b, 2
N v
m = 4=
m+2 K\S -
m+ 1
(= 3)(m = 5) (i — 3)(m + 2}
. e B, ————
' (i + 2)(m + 5) (i + 1)(in—3)
b (m = 3)m +2) @ -3
T 1) (m=5) < (m + 2j(m - 35)

Solve the equation. Check the solution.
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